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function y=lagrl (x0, y0, x)
n=length (x0) ; m=length(x) :
for i=1:m

z=x (1) ;
s=0.0;
for k=1:n
p=1.0;
for j=1:n
if j =k
p=p* (z=x0(j)) / (x0 (k) —x0(J)) ;
end
end
s=p*y0 (k) +s;
end
y(i)=s;
end
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x=linspace(-5,5,200);




y0=1./(1+x0.72);
yl=interp1(x0,y0,x,'spline");
y2=interp1(x0,y0,x);

y3=lagrl(x0,y0,x);

ya4=1./(1+x."2);

plot(x0,y0,'k-"x,y1,'r--' x,y2,'m--",x,y3,'b--");
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x0=linspace(-5,5,11);

y0=sin (x0) ;

x=3.5;

yl=interpl (x0,y0,x, "'spline’)
y2=interpl (x0,y0, x)

y3=lagrl (x0,y0, x)

y4=sin (x);
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vyl = -0.3439 y2 = -0.3078 y3 = -0.3500 vd =
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x0=1linspace(-5,5,11);

y0=cos (x0) ."10;

x=3.5

yl=interpl (x0,y0,x, "spline')
y2=interpl (x0,y0, x)

y3=lagrl (x0,vy0, x)

yd=cos (x) ."10;
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yl=06125 y2=04593 y3=02250 y4=0.5187
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0.914, 5.060, 7.772, 8.717, 9.083, 9.144, 9.083, 8.992, 8.687, 7.376, 2.073,
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X 0 0.1 0.2 0.3 0.4 0.5 0.6 0.7 0.8 0.9 1.0
F 20 21 21 20 19 18.5 18.0 13.5 9 4.5 0
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t(4r) 2 4 6 8 10 12 14 16 18 20
v(km/h) 10 18 25 29 32 20 11 5 2 0]
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H# (5 18 20 22 24 26 28 30
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Ay 1 2 3 4 5 6 7 8 9 10 11 12
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x0=linspace(0,8.534,11), y0=[0.914, 5.060, 7.772, 8.717, 9.083, 9.144, 9.083, 8.992, 8.687, 7.376, 2.073].

2. HI8iE%, x0=[00.10.20.30.40.50.60.70.80.9 1.0];

y0=[202121201918.51813.594.50];

HY x=linspace(0,0.4,100);

y=interp1(x0,y0,x,'spline’);

] W=sum(y*0.004).

3. HAERNE, 11 ME{E AN, t=x0=[02468 10 12 14 16 18 20];

V=y0=[010182529322011520];

HY x=linspace(0,20,200).
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x0=[18 20 22 24 26 28 30];

y0=[9.9617724 9.9543645 9.9468069 9.9390950 9.9312245 9.9231915 9.9149925];

HY x=linspace(18,30,200).
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1.x0=linspace(0,8.534,11);
y0=[0.914, 5.060, 7.772, 8.717, 9.083, 9.144, 9.083, 8.992, 8.687, 7.376, 2.073];
x=linspace(0,8.534,300);
y=interp1(x0,y0,x,'spline";
2=(8.534/300)*y;
sum(z)

2.x0=[00.10.20.30.40.50.60.70.80.9 1.0],
y0=[20 2121201918518 13.594.50];
x=linspace(0,0.4,100);
y=interp1(x0,y0,X,'spline";

z=0.004*y;

W=sum(z)

3.x0=[024681012 14 16 18 20];
y0=[01018 252932201152 0];
x=linspace(0,20,200);
y=interp1(x0,y0,x,'spline");
z=y*0.1;

sum(z)

4. x0=[18 20 22 24 26 28 30];

y0=[9.9617724 9.9543645 9.9468069 9.9390950 9.9312245 9.9231915 9.9149925];
x=linspace(24.98,25.04,400);

y=interp1(x0,y0,x,'spline");

plot(x,y)

line([24.98,25.04],[9.9351799,9.9351799])




5.x0=linspace(1,12,12);

y0=[80.9 67.2 67.1 50.5 32.0 33.6 36.6 46.8 52.3 62.0 64.1 71.2];
x=linspace(1,12,100);

y=interp1(x0,y0,X,'spline’);

plot(x,y)
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